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This question paper consists of 47 questions in all.
This question paper has been sealed by reverse jacket. You have to cut
on the right side to open the paper at the time of commencement of
the examination ( Follow the arrow ). Do not cut the left side to open
the paper. Check whether all the pages of the question paper are intact.
Follow the instructions given against the questions.

Figures in the right hand margin indicate maximum marks for the
questions.
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Ensure that the Version of the question paper distributed to you and
the Version printed on your admission ticket is the same.
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I. Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and

write the complete answer along with its letter of alphabet.

10x1=10

1. The most effective medium that brings social change is

(A)  Telephone (B) Education
(C) Radio (D)  Society

2. People of Russia were influenced by the theories of
(A)  Stalin (B) Karl Marx

(C) Rousseau (D) Abraham Lincoln
3. Difference in ratio of male and female is the result of
(A) Illiteracy (B) Caste system

(C) Female foeticide (D)  Child marriage
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4.

The word ‘caste’ is derived from the Spanish and

Portuguese word

(A) Casta (B) Caste

(C) Community (D) Creed

‘Hindu Widow Remarriage Act’ came into force in the year

(A) 1856 (B) 1865

(C) 1956 (D) 1986

The newspaper ‘Mukanayaka’ was published by

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Sardar Patel

(D) Dr. B. R. Ambedkar
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7.

The chief of women unit of Indian National Army’ was

(A)  Pratibha Patil

(B) Margaret Alava

(C)  Colonel Lakshmi

(D) Nivedita

The first Woman Prime Minister of India was

(A) Mayavati (B) Uma Bharati

(C) Jayalalitha (D) Indira Gandhi

=
3
EIAAESTY

Who among the following has the right to declare the area

of tribal communities as Scheduled Area ?

(A) The President

(B) The Prime Minister

(C)  The Chief Minister

(D) The Vice-President
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II.

10.

11.

According to which Article of the Constitution of India

Adivasis are referred to as Scheduled Tribes ?

(A) Article 244 (B)  Article 275

(C)  Article 332 (D)  Article 342

Match the following list ‘A’ with list ‘B’ and write the

answer along with its letter of alphabet : 5x1=5
A B

a) Mahaveer i)  Mehad Tank

b) Guru Nanak ii) Ramakrishna Mission

c) Basavanna iii) Jainism

d) Dr. B. R. Ambedkar iv) Prarthana Samaj

e) Swami Vivekananda v)  Sikhism

vi) Vachana Movement

vii) Arya Samaj
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III.

Answer the following questions in a word or sentence each :

12.

13.

14.

15.

16.

17.

18.

19.

20.

15x1=15

What is social change ?

Define social change according to Kingsley Davis.

What is Industrialization ?

Who was the first teacher of India ?

Who is the founder of Buddhism ?

Who is the author of the book ‘Caste and Race in India’ ?

Who said, “Practice of untouchability is a sin” ?

What is ‘Women Empowerment’ ?

Name the Rani of Kittur who fought against the British.

6 of 12



| CCE-III-RR/PR/NSR/NSPR(B)/222/9247 |

IV.

21. Who began ‘Home Rule Movement’ ?

22. What is ‘Tribe’ ?

23. Who called Adivasis as ‘Girijans’ ?

24. Under whose chairmanship did the Central Government

set up the first Tribal Commission ?

25. Who published the newspaper Kesari’ ?

26. Which city of Karnataka is famous as ‘Silicon City’ ?

Answer the following questions in about two to four

sentences / points each :

27. What are the features of social change ?

14 x 2 = 28
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28.

29.

30.

31.

32.

33.

Which are the important tools to communicate the world

in seconds ?

How do the cinemas reflect the social values ?

What is the role of Education in the improvement of

status of women ?

What is the difference between Pakka food and Kachcha

food ?

Mention the features of caste system.

What is Nehru’s opinion about Tribal people in

Panchasheela principles ?
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34.

35.

36.

37.

38.

39.

40.

Name any four prominent women who participated in

freedom struggle of India.

Mention the legislations with regard to assets and

occupation of women.

Which were the women organisations fought for the

awareness and progress of women during British period ?

What are the different names referred for tribals in India ?

Mention the approaches formed by the government of

India for tribal development.

What are the two types of mass media ?

What are the uses of computer in modern life ?
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V.

Answer the following questions in about five to six

points/sentences each :

6x3=18

41.

42.

43.

44.

45.

46.

What is the role of education in social change ?

Explain the role of Industrialization in social change.

List out the factors which have brought changes in the

caste system.

Explain the status of Indian women in 19th and 20th

century.

Explain the importance of women empowerment. gaess
e
1

Explain the social changes among the Indian tribes.
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VI.

Answer the following question

in about eight to ten

=]
sentences / points : 7
=

1x4=4

47. Mass media plays very important role in the present day

society. How ?
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